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BRIR B SKYED R X
FIE =R G+ =) 18,000
FIH=MF 10,000
FIH=1&8H 18,000
FH=ER 18,800
FIH =P 19,800
I = FLIR (BT &) 17,800
I =& 17,800
A HE (PEB) =Lk (HFm) 17,000
A E () =H 17,000
AFE =FLIR (B &) 18,000
MFE =& 14,000
ME =K 11,800
MR =R 12,000
HF=ERE 12,000
MPE=AH 18,000
&R = LR (B F &%) 19,800
& =R 16,800
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BRIR SKYEP R X
FIHE = LR G T &) 24,000
FH=/F 14,000
FIH =12 26,000
FEH=ERS 26,000
FIH =75 26,000
= LR (BT %) 24,000
I = 18 26,000
A5 E (Pl =FLIE (B T8) 23,000
A2HE (P =5 23,000
MAFE =4I (Fr T8 25,000
MFE =5 17,000
AP =R 14,000
MR =RIF 14,000
AF=ERE 14,000
P =H 25,000
TR = FLoR G =) 29,000
& =3P 5 23,000
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